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Indefinite Integrals 
Everywhere in the table below, I is an interval included in the real number set R and C is the set of all constant functions 
defined on I with real values. 
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( ) 2secf x x=                                                                                2sec tanxdx x C= +∫  
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      ( ) tanf x x=           tan ln cosxdx x C= − +∫                                                          

15 { }: ; \f I R I R k k Zπ→ ⊂ ∈                    ( ) cotf x x=            cot ln sinxdx x C= +∫  
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      ( ) secf x x=           sec ln sec tanxdx x x C= + +∫                                                                
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 { }: ; \f I R I R k k Zπ→ ⊂ ∈                    ( ) cscf x x=           csc ln csc cotxdx x x C= − + +∫                                                                      



 


